
SAP ABAP table CKKS {Header: Unit Costing (Control + Totals)}

CKKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KALNR [CHAR (8)]

WTTYP [NUMC (2)]

VERSN [NUMC (2)]

KKART [CHAR (4)]

MEEHT [UNIT (3)]

HWAER [CUKY (5)]

FWAER [CUKY (5)]

KURST [CHAR (4)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]
 CKKS-MEEHT = T006-MSEHI 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CKKS-FWAER = TCURC-WAERS 
1

1
 CKKS-HWAER = TCURC-WAERS 1

1 TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 CKKS-KURST = TCURV-KURST 

0..N
{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 CKKS-KOKRS = TKA01-KOKRS 

1

1

TKKEA

MANDT [CLNT (3)]

KKART [CHAR (4)]

 CKKS-KKART = TKKEA-KKART 

0..N

{0,1}


